COND SEMESTER
MSM 04
[USE OMR FOR OBJECTIVE PART]
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( Descriptive |

Time : 1 hr. 15 mins. Marks : 25
[Answer question no.1 & any two (2) from the rest |

Prove That Fundamental metric tensor g, is a covariant second

rank tensor

2. Find the velocity and acceleration of a moving particle in 4+6=10
Cylindrical coordinate system

3. State and Prove Euler-Lagrange Equation from D’Alembert's 2+8=10
Principle

4. What is the definition of contraction?lf a mixed tensor, 1+9=10
contravariant of rank pand covariant of rank ¢ ,we equate a

contravariant and covariant index and sum with regard to that

. . -2 ; .
index ,then the resulting set of N/ sums is a mixed tensor
,contravariant of rank p — I and covariant of rank g —1

3. What do you mean by Impulse and Impulsive force?State and ~ 2+2+6
Proof Carnot’s Theorem =t
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